Math 232 Calculus 2 Fall 12 Final a

Name: SOLMHM

e Do any 8 of the following 10 questions.
e You may use a calculator without symbolic algebra capabilities, but no phones.
e You may use a 3 X 5 inch index card of notes.
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(5) Find the volume of revolution of the curve y = 1 + 1/ above the interval
0, 2], rotated about the z-axis.
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converge? Justify your answer.
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(7) Does the series E ;/_; 5 converge? Justify your answer.
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(8) Find a power series for the function f(z) = e+ e~ centered at ¢ = 0. What
is the radius of convergence of the power series?
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(9) Find the angle between the

\Lectcvrs N =

{1,~2,3randw = (-2.3,1) Find

the equation of the plane through the origin containing the two vectors.
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(10) Sketch the polar curve r = 3 + 8(2r — 6), for 0 < § < 27. Find the slope ﬁ
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